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. Please convert the following numbers: (15%, each 5%)

(a) (11.625),9 into equivalent binary number.

(b) (5BF);s into equivalent decimal number.

(c) What is the two’s complement representation of (-37);0? (8 bits is used)
Write the postfix expression of the following expression: A/(B+C)+(D-E)/F (10%)
Please describe the primary operations of “Stack” and “Queue”. (16%)
Compare the advantage and disadvantage of array versus linked list. (10%) _
What is the difference between TCP and UDP? (10%)

Briefly explain the “Binary search tree”. (10%)

What is E-R Diagram in database? (10%)

What is IoT? Give two examples of IoT. (10%)

(a) Please describe the algorithm for Bubble Sort. (5%)
(b) Write a pseudo code for Bubble Sort. (10%)
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